HANDS ON

Mame

& Subtract to Compare Lesson 2.6
Essential Question How can you use models to compare =i ) _
end subrreet - e
MATHEMATICAL PRACTICES

MP1, MP.2, MP.G

- ; Listen and Draw (g %Ww

Use @ to show the problem. Draw the @.
Model the problem using the bar model.

Explain how you
find how many more
puzzle pieces Mindy
has than David.

FOR THE TEACHER + Read the problem. Mindy

has 8 puzzle pieces. David has & puzzle pieces.

How many more puzzle pieces does Mindy have
than David?
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LM Model and Draw -~

James has U stones. Heather has
7 stones. How many fewer stones
does James have than Heather?

L_fewer stones - O _ O /

Share and Show )

Read the problem. Use the bar model 1o
solve. Write the number sentence. Then
write how many.

% @ 1. Abby has 8 stamps. Ben
has 6 stamps. How many
more stamps does Abby |
have than Ben? : L

more STGmpS O O

@2. Daniel has 3 books.

Vicky has 6 books. How
many fewer books does
Daniel have than Vicky? — :




Maome

BUATHERATICAL

Jmy) Use Models Read the problem.
Use the bar model to solve. Write the number
sentence. Then write how many.

Q@ 3. BT Pom has
4 marbles. Rick has
|0 marbles. How many
fewer marbles does
Pam have than Rick?

tewer marbles

# 4. Sally has 5 feathers. James |
has 2 feathers. How many

more feathers does Sally |

have than James?

more feathers O

5. Kyle has 6 keys.
Kyle has 4 more keys than
Lee. How many keys does
Lee have?

_keys _O__0O__

TAKE HOME ACTIVITY * Have g‘our child explain how he or | FOR MORE PRACTICE: |
, Ehe solved sxercise 3 using the bar modsl. | Standards Practice Book

apter 2 » Lesson 6 '




Mame

@ @ Mid-Chapter Checkpoint
&l Concepts and Skills )

Circle the part you are taking from the group. Then
~ cross it out. Write how many there are now. aoas

- 2¥Re ¥

7 birds 3 birds fly away. birds now

“

@ Use @ 1o solve. Draw to show your work.
Write the number sentence and how many. weas

@ 2. There are Y4 cans. | canis red.
The rest are yellow. How many
cans are yellow?

___ yellow cans - O - O -

o A

@ 3. BEXD) Jennifer has
3 pennies. Brad has 9 pennies. i
How many fewer pennies does v g
Jennifer have than Brad? oy ‘ :
3 | | g
e T e )}
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